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[ERiva K % OUT IN GR = HDCP  NET ] [ELiva K % OuT  IN GR = HDCP  NET e

1 Kz =EB 52 49 101  28.0 73.0 31 HEH Ea 50 50 100 18.0 82.0
2 INEE EIgF 50 45 95 22.0 73.0 32 M= - 52 55 107 24.0 83.0
3 &0 #BF 50 45 95 22.0 73.0 33 &8 #sh 0 59 57 116 33.0 83.0
4 thid EF 45 46 91 17.1  73.9 34 FEH %= 50 49 99 16.0 83.0
5 B E4E 48 46 94 20.0 74.0 35 =8 Xk 59 65 124 41.0 830
6 i K3 48 50 98 240 74.0 36 mE BME 48 50 98 15.0 83.0
1 LS V) 50 52 102 28.0 74.0 317 mF BT 5/ 51 108 24.0 84.0
8 ML R 52 55 107 33.0 74.0 38 FEE |- 50 49 99 150 84.0
9 AE — 45 46 91 16.0 75.0 39 B BE 93 59 112 27.0 850
10 LERIFF EZ 53 51 104 29.0 75.0 40 Hi E= 56 58 114  29.0 85.0
" EHEHR BEE 51 48 99 240 750 41 FE F—B 56 57 113 28.0 85.0
12 A&H =8 47 49 96 20.0 76.0 42 W& REE 61 60 121  36.0 85.0

13 HE FE# 47 42 89 13.0 76.0 BG A-I 43 miaAk EE 58 63 121 36.0 85.0

14 KR =& 44 46 90 13.0 77.0 44 FHith BEX 46 58 104 18.0 86.0
15 /NEE SFRO49 0 43 92 140 78.0 45 e 54 57 111 25.0 86.0
16 xHF BB 55 48 103  24.0 79.0 46 BI —% 50 52 102 16.0 86.0
17 BK M 55 44 99  20.0 79.0 47 o & 55 56 111 25.0 86.0
18 i JEE 43 48 91 12.0  79.0 BG A-1I 48 =€ FF 47 60 107 21.0 86.0
19 A+ IEH 52 46 98 19.0 79.0 49 L =& 58 54 112 23.0 89.0
20 =& ¥ 46 47 93 140 79.0 50 AR EEA 64 60 124 340 90.0
21 W #CER 54 52 106 27.0 79.0 o1 HE BE 60 58 118 27.0 91.0
22 pRRE R 53 54 107  27.0 80.0 52 R Ba 53 55 108 17.0 91.0
23 B EX 53 57 110  30.0 80.0 53 A Iskg 59 58 117 25.0  92.0
24 A B 50 48 98 17.0 81.0 94 SH 1#X 60 59 119  20.0 99.0

25 ZH RBRX 56 48 104 23.0 81.0

26 Fh 69 57 53 110  29.0 81.0

217 =% HE 53 55 108  26.0 82.0

28 MWiFBE ® 52 52 104 220 820

29 EH RB= 5/ 57 114 32.0 82.0

30 REIRF i 51 54 105 23.0 820
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1 (/N 48 46 94 27.0 67.0 31 F=a¥F —m 51 52 103 20.0 83.0
2 RE KB 46 42 88 17.0 71.0 32 e /X ol 45 102 19.0 83.0
3 N g 46 44 90 17.0 73.0 33 fall Ak 47 48 95 12.0 83.0
4 XxEF AL 46 44 90 16.0 74.0 34 iwmil #%F 51 46 97 140 83.0
5 ER EHFE 46 49 95 20.0 75.0 35 ME - FER 47 46 93 10.0 83.0
6 fBE 47 51 98 23.0 75.0 36 FHAK tht 45 48 93 10.0 83.0
1 il FZ 52 45 97  21.7 75.3 37 BH %o %6 54 110 26.0 84.0
8 RE KkmE 46 40 86 10.0  76.0 38 Bl K& 51 53 104 20.0 84.0
9 2R BEA 46 43 89 13.0 76.0 39 mAEAR th= 52 48 100 16.0 84.0
10 wmAR F— 43 47 90 13.0 77.0 40 AR #x 54 51 105 20.0 85.0
11 =K% ER 47 48 95 18.0 77.0 M HFFE {E— 52 52 104 19.0 850
12 Kt ¥ 45 43 88 11.0 77.0 42 =9 #(CZ 50 59 109 23.0 86.0
13 E%¥ Bk 49 45 94 16.0 78.0 43 AR 18X 57 58 115 29.0 86.0
14 & &8 54 51 105 27.0 78.0 44 Folg Bt 52 53 105 19.0 86.0
15 +tHE #—BF 47 50 97 19.0 78.0 45 A = 55 60 115 28.0 87.0
16 Bt & 42 43 85 7.0 78.0 46 )| = 63 50 113  24.0 89.0
17 A ESE 42 44 86 8.0 78.0 4] i BF 55 51 106 16.0 90.0
18 IR ZE 45 50 9 16.0 79.0 48 X R= 60 56 116 26.0 90.0
19 M 49 53 102 23.0 79.0 49 & &5 54 55 109 17.0 92.0
20 R =% 55 47 102  23.0 79.0 90 B gk 54 52 106 13.0 93.0
21 wnEg #F= 52 43 95  15.0 80.0 51 AK E# 57 60 117 140 103.0

22 El BhiE 53 58 111 31.0 80.0

23 R #f+ 44 40 84 40 80.0

24 T B3l 51 45 96 15.0 81.0

25 2RF —5h 46 52 98 17.0 81.0

26 EH & 50 49 99 18.0 81.0

2] HE HX 45 52 97 16.0 81.0

28 R == 42 39 81 0.0 81.0 BG B
29 =#f Mx 50 55 105 23.0 82.0

30 sl & 46 43 89 7.0 82.0
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